A

2000 &= =20l & LEgH|
SN FOMET R L
M. HYESHHH(FUMS X)) (IIEH/IIE
chel: ol 2 A LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ZF0IME T & 0t 12,145,333 11,859,892 285,441
= 7,371,149
J| 265,600
= 559,984
= 1,083,456
iy 2,865,144
HESAAH| (F=CIMEX KA (DIEHIIE}) 31,380 27,820 3,560
ol 2A 4,200 3,000 1,200
ol 2| 4,200 3,000 1,200
203 ERF&XH| 4,200 3,000 1,200
04 ENSIYERF=ZEH 4,200 3,000 1,200
ORMSHA2 =X (1721) 350,000& x12& 4,200
Jl2&dl 27,180 24,820 2,360
Jl2&d | 27,180 24,820 2,360
201 LErEIH| 17,580 15,220 2,360
01 ARzl 15,726 13,570 2,156
Ogt3H| 12,156
0.I2AIREE 66,000& *172! 1,122
0.AFR2217] & =AIES 10,458,000& 10,458
0AERSE 48,000 x12& 576
O=&H| 210,000& =172l 3,570
02 =32&H| 1,854 1,650 204
O232=2 <2 HMA 1,734
0.2BR2 102,0008 * 17¢! 1,734
OAl&E &HI S X4l 120
0.H2D| A5 L 22| 120, 000& 120
202 O4H| 9,600 9,600 0
01 =2WAbI 9,600 9,600 0
O2AHl(Z=ZHl)
200,000& * 4& =128 9,600
=2 E& 22 & NS (AM=EX/EFE) 865,573 189, 158 676,415
= 500,000
= 1,100
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SN FOIME XD
o =) 22 2ol U NV (MISX/EE)
oo BEMY (£ &%)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
307 QI2t0IF 9,000 8,500 500
04 CIZFHAEE 9,000 8,500 500
OBSUHA X 6,500
0.2 #A 15,0002 *3002! 4,500
0.04 A 500, 0002 47} &4 2,000
OLH S AIF &R0 2h01 S| AL R R
2,500, 0002 2,500
SEANANR 1,100 0 1,100
= 1,100
301 LerBA3 1,100 0 1,100
= 1,100
01 ASIBEE2HI 1,100 0 1,100
OSSR 2| 1,100
JEES 50,0008 * 1071 500
= 500
0.2XNEXT X2 600,008 1] 600
= 600
SYszesIluaAY 700,000 0 700,000
2 500,000
2 200,000
401 ASHILLHH 700,000 0 700,000
2 500,000
2 200,000
01 Al&H] 694,960 0 694,960
ORUSUSSIIEZ ARVAY
694,960,00024 694,960
= 500,000
2 194,960
03 A&l 5,040 0 5,040
ORUSUSSIIEZ AYALRUY
700,000,0002 * 0.72/100 5,040
CHR| X 2 68,667 11,600 57,067
ECHH BAK 68,667 11,600 57,067
01 YsrBAZ 12,500 11,600 900
10 SAFAHIRA 12,500 11,600 900
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S FOIMEX A
HIM: FOSN HOTR(YUDIHN/UYAT)
SRl AMZ|CHRI 22 (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
02 XNstz3UsI= 3,920 6,000 22,080
OMOIS XIS KHAHAE &2 (4Y)
980,000 * 40! 3,920
[= 1,960
= 1,960
AZOIE DH =D IALY 27,000 22,500 4,500
[= 3,780
= 23,220
307 ©QI2toIA 27,000 22,500 4,500
[= 3,780
= 23,220
02 QIZHAAEX 27,000 22,500 4,500
OAZOATE D HFTIAS X
1,500,000 18= 27,000
[= 3,780
= 23,220
Z0ISESHH 2435 153,202 63,100 90, 102
201 LEr=2HH| 1,500 1,500 0
01 AtR22lH] 1,500 1,500 0
O] 1,500
0.202SCHHBAMEES HE
100,000 *103] 1,000
0.2 2AM3I M3 2AMH HI=
100,000 *501 500
301 LetEA3 27,400 25,500 1,900
10 SALAHI 24 27,400 25,500 1,900
OMOIS=clnszA 16,800
0.1 SH 110,000 *80Q! 8,800
0. W=K0{H| 100,000 *80¢! 8,000
OMOIE & ¥ M2 &4 3,200
0.5 gl 30,0002 409! 1,200
0.820H3 50,000 409! 2,000
OHIZAHAD| & L =23 SFAS4 3,200
0.5 U3l 30,0002 409! 1,200
0.5 50,0002 x409! 2,000




SN
X XH .
(=

chel:

_ _ _ HET
N Z3 . CA(ZAH) - MPAY - BES O AF K Ol AF o8 HwsZ
OttEA &I 48T A NS F A
30,000 x709! 2,100
Ost=2N=SHUTEHIIEHAL &4
30,0002 %409 1,200
OAMBISHRIZ S| 424 30,0002 302! 900
307 2120 A 124,302 17,100 107,202
02 BlZtFAE=X 16,500 17,100 2600
OMOI221D TA7Y 10,0008 %1002 1,000
OZOotHAl 20U 22L& sE&X
3,500,0002! 3,500
OXNR+E SHUE 20,0008 * 100¢! 2,000
OMOISEUXIEX & 4H3] 10,000,000 10,000
03 MISHEES 107,802 0 107,802
O/rE 2 MOt23 58,242
0.MOt=3 224 28,958, 000& 28,958
0.AFQl ola DD 1,200,0002! 1,200
0.Z20e 2 LoISXAIE SA
1,200,0002! 1,200
0.2EA X211 2Eel &Y 484,0002! 484
0.8% MOISEE At 13,200,0002! 13,200
0.SHMOISRH3 At 13,200,0002! 13,200
Ott2AalI2s ¢4EZ 23 34,180
0.HI2A&)I2s 29 7,875,0002 7,875
0.2 AME 2HIIE NG Hde =
2013 4,300,0002 4,300
0.8tu==50Y & 4w A28
2,445,000 2,445
0.Z0HQ S=2SAtE=s 2,960,000& 2,960
0.R2IDEARI| EBHE 3,400,0002 3,400
0.882A23 ¥ HdsSAtal At
13,200,0002! 13,200
Oet=AmEHUMHZXF 15,380
0.3=2NREHY 2| 8,600,0002! 8,600
0.8 % A & W= 5,000, 000& 5,000
0.81FAIQ DS 1,500,0002! 1,500




SN FOIMET D
By FOIMN HOTO (YT /LUHET)
SH9l: AFSIEFRI 22 (29 &)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
0.2EHEZ2S &N 280, 0002 280
RS A 245 565,351 446,666 118,685
= 17,235
& 19,218
i 528,898
120 Jlstf 29 5,580 5,240 340
201 g2y 3,180 2,840 340
01 AR 2&cldl 2,580 2,240 340
Ogsgt| 660
0.1200| s SEHEESAE 60,000& * 113 660
Ol =l 800
0.1200| st = 100,000& *401%23] 800
O= gl 1,120
0.1200|sf = 7,000 22180 1,120
02 =224 600 600 0
OZ2R3 2 HAl 600
0.1200| St SUHHEMER 50,000& 12 600
202 Oddl 2,400 2,400 0
NEEEEL 2,400 2,400 0
O1200IstgRz=a 100,000 +20! %12 2,400
12023 sSAE2s X 17,900 16,400 1,500
201 LEHRHH| 3,300 0 3,300
01 AtR2cldl 3,300 0 3,300
Ogsr+gH| 3,300
0. 8==AY HIZ 30,000& * 1021 = 112l 3,300
206 TH=HI 14,600 13,400 1,200
01 =4l 14,600 13,400 1,200
OMBDIANZNZ Y
100,000& * 5& * 122 6,000
O120= 8 BN E R BL2I 2 EX
250,000 & = 12 2 3,000
012023l = AOI0I B T2 72!
100,000 & = 12 3 1,200
OJIEtE M=+ 100,000& = 123 1,200




M FOIMEIAD
HIM: FOSN HOCR(YUTIHN/UYYAT)
el XEA 2435 (&)
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
O120=3 2AI22 Y , 0D ERL
100,000 & * 12 3 1,200
oA ASHE
10,000 & = 10& = 20 2! 2,000
AEAL & SHH2S 10,260 11,720 21,460
201 LEr2HH| 1,000 1,000 0
01 AtR22IH] 1,000 1,000 0
OLBta2H| 1,000
0.2 XA ZAFXHZE AT
100,000 & = 10 @I 1,000
301 LetEA3 9,260 10,720 21,460
10 SALAHI 2 A 9,260 10,720 A 1,460
O120KL 2 AL EOLE &A 20,0002 * 509! 1,000
O120KLEAK =3 2AE2SEA
10,0002 * 300! * 113 3,300
O120KH 2 ALK 23| &
20,0002 * 509! 1,000
O120KLEAK SR As
50,0002 * 309! 1,500
ONISAUSH SHA(Z)EA
30,0002 * 509! 1,500
ONSAIE Q3| 3|9 &4
20,000 * 1291 * 43| 960
SEIJZREHR L 2el 443,540 342,780 100,760
201 LEr2YH| 149,540 107,440 42,100
02 2229 149,540 107,440 42,100
OZZ2Z22 % HA 149,540
0.JI12€ ®II122 9,000,000& * 12& 108,000
0.JI2E N ARE SIHEY
190,000 * 20004 £ 38,000
0.JI2S QA AH(2HEE)
36,0002 * 4000 A 1,440
0.JI2E QHMZAAHI(IIZE =)
6,0009 * 35000 A 2,100
401 Al&HI L2 HY] 294,000 205,340 88,660
01 Al&H] 292,027 204,000 88,027
OJNZRE KXzl M|
20,0002 * 1,000S 20,000
OAIJIX Jt2S4xR 4,000,0002 = 10S 40,000




S A
X XH .
(=

chel:

_ _ SIEN
M« B2 - S2(3H) - MRAY - BaS arey il ot o {imE=Eh
OAIJIXI D128 =&24 WHI(30S)
118,027,000& 118,027
Os&li2s &4 1,200,000& » 40S 48,000
sENES 014 600,000& * 30 18,000
SENZS =24 WA
1,200,000& * 405 48,000
03 AlZ=0idl 1,973 1,340 633
OJtz2s AX3A 20
274,000,000& * 0.72/100 1,973
HESA HEMSAL XA 10,400 10,450 A50
201 ZEH2IH] 4,800 3,550 1,250
01 Atf2teld 4,800 3,550 1,250
Ogt=2H| 1,700
0. X3 SAtCH=HME =0/ & 50, 000& +60Hk 300
0.R=XtASARH(SHHI) 2P A JI =
100,000& *5H 500
0.0t el X2 XtZ ArE KL oI S X Ml &
30,000& * 309! 900
O=gl 2,100
0. XA HRET
7,000 & x 621 » 50 2,100
ogxt= 1,000
0. K3 SAHAHE A XHE X 200, 000& 53] 1,000
301 utEa=s 5,600 6,900 A 1,300
10 BAIAHIENS 5,600 4,000 1,600
ONESMUFHEHEA D4
70,0002 80K EH Al 5,600
ASAMELSRA(ZCIUIOIH) 33,471 51,096 A17,625
= 15,235
& 7,618
i 10,618
101 el H] 33,471 49,896 A 16,425
= 15,235
< 7,618
= 10,618
10 JIZAH22ASES 33,471 49,896 N16,425




SN FOIMET D
HH: FOIMN BOCO(UUDDHT/AUHT)
o9l RESA 25 Rk
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
OXFEARCHO0IESRN(2HEE)
2,539,250& = 12& 30,471
= 15,235
= 7,618
2 7,618
OXEZAMDCO0E =2 3,000,0002! 3,000
AESAMEESXH 18,200 5,080 13,120
201 ZEH2IH] 10,800 480 10,320
01 Atf2teld 10,200 0 10,200
OgsgY| 1,200
0.THEBE(2,012)2L2Y
100,000& = 12& 1,200
oRgsg 9,000
0.XNJASAMY 2= 9,000, 000& 9,000
02 23244l 600 480 120
OZBR3 ¥ MA 600
0. UHJASMEEH 2223 50,000& * 12& 600
301 LerEd= 2,000 2,000 0
10 BAIAHIENS 2,000 2,000 0
ORRAZAR ALAREA B4
10,000& = 200 @! 2,000
307 QI2t0IA 5,000 0 5,000
02 UAHAEX 5,000 0 5,000
OAtgtel AxIg21 K& 5,000, 000& 5,000
403 TXEMSAH201H 400 2,600 A2,200
P EEL EEEENET] 400 2,600 A2,200
OXFEA D12 S& T2IHK
400, 0002 400
ANESA 245 & A= 22,000 0 22,000
= 11,000
i 11,000
307 21201 22,000 0 22,000
= 11,000
2 11,000
02 QtFAE X 22,000 0 22,000
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S A

A8 oE AN 0, DEX ENSX(ANEN/LE)
Chol: YA AlolCH (crol a2
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
= 9,744
- 9,744
SSZ2AY 159,984 159,984 0
= 59,984
iy 100,000
2222 A= 159,984 159,984 0
= 59,984
iy 100,000
401 AIEHIZL 204 159,984 159,984 0
= 59,984
iy 100,000
01 Al&H| 159,984 159,984 0
OS2 A 159,984 ,000& 159,984
= 59,984
= 100,000
20| ZMESE(AISEX /I ZHESE) 9,893, 146 10,563,534 A670,388
= 7,344,170
J| 265,600
& 1,057,398
iy 1,225,978
MNASS Jx=dHag8 7,675,200 8,368,606 693,406
= 6,093,342
== 779,449
o 802,409
MAZ N 5,437,309 6,528,750 A 1,091,441
= 4,349,847
= 543,731
iy 543,731
301 Let8Aa3a 5,437,309 6,528,750 A 1,091,441
= 4,349,847
== 543,731
iy 543,731
01 A E&EE56= 5,437,309 6,528,750 A 1,091,441
ONEMELDT MABO(LE AL (278
69! 5,437,309,000& 5,437,309




S A

=
.
H: =00

@2l MAS MEH Sz
SN S(B) - NRAY - B2 O] &k o8 e =2
= 4,349,847
< 543,731
= 543,731
F=H20 1,671,319 1,463,750 207,569
= 1,337,055
= 167,132
i 167,132
301 Lptsazg 1,671,319 1,463,750 207,569
= 1,337,055
= 167,132
2 167,132
01 A22HEE=063 1,671,319 1,463,750 207,569
OJIZMEFNHES20(2796Y)
1,671,319,000& 1,671,319
= 1,337,055
< 167,132
i 167,132
wE=0 122,502 173,750 Ab51,248
= 98,002
& 12,250
= 12,250
301 otEaz 122,502 173,750 Ab51,248
= 98,002
& 12,250
= 12,250
01 A2 HE =03 122,502 173,750 Ab1,248
O=2Xw=30{(18321) 122,502,000& 122,502
= 98,002
< 12,250
o 12,250
MEESE HAIX AZ2S 1,200 1,200 0
L= 600
= 600
301 YBtEa= 1,200 1,200 0
& 600
= 600
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AN FRMETA D

FH: 2R ZHUEEF(MIEX/INZUEEH)

o9 HASS JZNESY CRRE]
SN S(B) - NRAY - B2 O] &k o8 e =2
MHASEHNHUXNEES A = 198,836

& 24,855
= 24,855

301 ptsaazg 248,546 0 248,546
= 198,836
= 24,855
= 24,855

01 AMSIEEE=H3 248,546 0 248,546

OMASESHUHXNEEZZ XA (2,063H)
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